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Question 3

The diagram below shows parallelogram ABCD.

D C

A

—> —>
AB represents vector u and BC represents vector v.

%
Express BD in terms of u and v.

Answer:

<
I
Ic
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In the diagram, OABCDE is a regular hexagon with centre M.

Vectors a and b are represented by OA and OB respectively.

D C
E M B
0 a A
(@) Express AB in terms of a and b. 1
(b) Express OC in terms of a and b. 1

Answers:

(a) b-a (orequivalent)

(b)  2(b—a) or 2b—2a (orequivalent)
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— —
In the diagram below, RQ and PQ represent the vectors ¢ and d respectively.

P }d Q

R

J,.,
(a) Express PR in terms of ¢ and d. 1
The line QP is extended to T.

T P }d Q
\ C
R

« TP=PQ
« Vis the midpoint of PR

7\\
(b) Express TV in terms of ¢ and d.

2

Give your answer in simplest form.

Answers:
(a) d—c (or equivalent)
(b) %g—%g (or equivalent)
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In the diagram below, AB and EA represent the vectors u and w respectively.

A U B
-
W C
E D

— —
- ED=2AB

— —
« EA=2DC

%

Express BC in terms of u and w.
Give your answer in its simplest form. 2

Answer:
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The triangle ABC is shown below

—> —>
AB =u and AC =1t.

G is the point such that CG = %CB.

%
Express AG in terms of u and t.

Give your answer in simplest form. 3

Answer:

2, 1 :
5; +su (or equivalent)
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